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(Cube Patterns =D

There are four patterns below. Three of the patterns can be folded to form a cube. f@

1. Guess which one of the patterns below cannot be folded into a cube.

My guess: Pattern __ (A, B, C, or D) cannot be folded into a cube.

2. Cut on the solid lines, and fold the pattern on the dashed lines to check your
guess. Did you make the correct guess? If not, try other patterns until you find
the one that does not form a cube.

My answer: Pattern __ (A, B, C, or D) cannot be folded into a cube.
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